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please find below our remarks on the documents provided by G&D.

*       does not use the delete more in your clean-up file.Agreed change in the clean up scripts to be done 
*       


*       the APDU mechanism access in the install install command specify

that the applet has the right always but in many applet you use the ADM
access.For example : Test case 2 of API_1_SVW_INVL_1 on EFTNR. Agreed change to be made.
Update the Sim.Access.SimView test default prepersonalisation in the core document with access ALWAYS or NEVER instead of ADM.
Update the Sim.Access.SimView test default prepersonalisation in the core document for record file with Logical Record Number instead of Bytes, example :
Identifier: '6F09'
Structure: cyclic
Mandatory

Record length: 3 bytes
Update activity: high

Access Conditions:


READ
ALWAYS


UPDATE
ALWAYS


INCREASE 
ALWAYS


INVALIDATE
NEVER


REHABILITATE
NEVER



Logical Record Number
Description
Default Value
M/O
Length

1
Test Data
55 55 55
M
3 bytes

2
Test Data
AA AA AA
M
3 bytes

*       in the clean-up files, when you restore the  system file, you update

the cyclic file Efcaru  with an update previous. The first record contain

the values AAAAAA but in the specification the firts record contain the

values 555555.
Change to be done from :

REM Select EF_caru

CMD A0 A4 00 00 02 \

6F 09

REM UpdateRecord EF_caru

CMD A0 DC 00 03 03 \

55 55 55 \

(90 00)

CMD A0 DC 00 03 03 \

AA AA AA \

(90 00)

So here the last updated record (which is the first) contains AA AA AA whereas it should contain 555555
to :

REM Select EF_caru

CMD A0 A4 00 00 02 \

6F 09

REM UpdateRecord EF_caru

CMD A0 DC 00 03 03 \

AA AA AA \

(90 00)

CMD A0 DC 00 03 03 \

55 55 55 \

(90 00)

*       api_1_svw_incr_bs_bs test

in the test case 3 the length of the data to be read is 0 instead of 3. Modification shall be made in the core and the test nearly like this :

                respLength = 3;

                theSimView.readRecord(recNumber, mode, recOffset, resp,

                                      respOffset, respLength);

                if ((resp[0] != (byte)0x00) || (resp[1] != (byte)0x00) || 

                    (resp[2] != (byte)0x03) ) 

*       


Rejected
*       api_1_svw_reha

        in the case 2, the increase method is used with a smaller array. the

array size must be greater than the record size. Agreed the resp buffer shall be 3 bytes. The specification shall be modified and the test case clarified.
*       api_1_svw_seekb_bss

        the attended result for the case test 3 in the scr file is 00 (the

attended result shall be CC)

        if the test is passed to the framework, why the test has a number?
Test case 3 has to be suppressed and the others renumbered.
        in the test case 15, the purpose of the test is to generate an

SIMViewException.OUT_OF_RECORD_BOUNDARIES when the pattlength is greater

than the record size but the used pattlength is 4 and the record size of

Ef_laru is too 4.Agreed pattlength has to be increased.
*       api_1_svw_slcts

        the attended result for the case test 5 in the scr file is 00 (the

attended result shall be CC)

        if the test is passed to the framework, why the test has a number?
Test case 5 has to be suppressed and the others renumbered.



(Instead of EFadn, another file will be used, which has read access condition ALWAYS)

*       api_1_svw_slcts_bss

in the test case 11, you report in a bad case on the array (you report in

the case array 10) Agreed change to be made.
in the test case 16 when you read a record to control the current record

that is null, the length that you read (0x32)is greater than the length of

the record (0x1C) Agreed please change the respLength parameter.
*       api_1_svw_stat test

in the test case 2 the byte array fci2 is not initialized. Agreed allocation of the array to be added.
in the test case 4 you compare the length that be written in the buffer and

the length  that you want to copy. you send an exception if the length are the

same but you must send an exception if it is different as it is written in specification (7=7).

in the test case 8 you want an exception because the

fcilength+fcioffset>fci.lenght but fcilength(15)+fcioffset(20) is not > to

fci.lenght(100) Agreed change to be done.
in the test case 9 you want an exception because the fcioffset>fci.lenght

but fcioffset(34) is not > to fci.lenght(100) Agreed change to be done.
*       api_1_svw_updrsbs_bss test










Several test cases have been split into simpler and more clear ones.

Errors with mode NEXT/CURRENT have been fixed.
